EARAROBREBRT —5 XN—ZXBISH—F

20224F988H () 8EISEHSH

ER OS5 omaEARERRER C1 YSRMK EREER R
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
118l9|7U /Ly RZ 59— 4 7 ’é%lﬂuzf 1:32.8 2-2-2-1 |39.6| — 1 448 gﬂ%#ﬁ (%)
. (=) _ i
RZADITRA—=F7—RK—K B:T7ATRXI— -1 HS;T—A
208l SFEATURAITA 4 8 g"ff‘g%oﬁz 1:(33).0 5-6-4-3 |39.2| — 2 429 ﬂﬂ%{ﬁ% (54
. 1 = e
RIFA—FAYRT R B P E—XT—LF YR 0 Ea5—n
—_ o5 | HREGE 1:33.5 8-8-5-4 |39.5| - 5 518 | BOBE ()
/X\.'j "j{JIJlI A53.0 2172 +7) E%ﬂ%ﬂ
RIN=VISA B:T—NAF HEI7—L
= o4 | BALES 1:33.8 3-4-3-2 | 40.4| - 7 | 498 |EHESR (&)
:Ez\ij‘”: — #35.0 (1172 @y | B Ir—2bevay
RISV TURR BEXRYYTID EIfagae]
» ° W 4 7 | ALE— 1:34.8 9-8-7-6 | 40.5| -— 6 463 | NIEESE(R (FAL)
EX ?_/\Jﬂb\j T J 9 56.0 ) (1) | SBEE
REVFOVY B:NTT KIS
R # 4 | ABER 1:35.3 1-1-1-5 [ 42.3| - 8 464 | FRLLZEEE ()
ff{l?{ﬁh_ o 54.0 2172 “2) ?ﬂﬂ .
RT7RIAVL—Y B:RA—RFSR Y URUKES
N — 4 5 | RIEL 1:35.4 7-7-9-9 |41 — 4 444 | BEEIEE (W)
71111 /IEJL/_/?/\ j- o A51.0 72 @3 |BIEX
R:O0—-RKAF0O07 B:/\vE—IJ2TIlb Pu e ]
3 3 s 6 | HIIEESE 1:35.4 6-5-8-8 | 41.4| — 9 475 | BEHIES (%4)
s7| 7¥v/ne #53.0 “6) @) |8 K—zb7
RIN—EVIv— B:E—FITU-R #HET7—L
9 4| 7F—0—ER t 4 gﬁsl%%i 1:36.1 4367 |47 — | 3 | 530 %‘%ﬁ] (1)
: (3) _ 2
RiFAIATv— B:ETVAEVYR (-5) (B\) #8I1-RL—rvavEEI7
@ 11— —‘@BIEfI
13—7+— 2,9,5,4,8,7,1,6,3
20—7F— 2,9,4,5,7,8,1,(3,6)
30—7— 2,9,5,8,6,4,3,7,1
43—+ — 9,5,8,6,2,3,4,7,1
0 ILRE
BB 9 1309 JA R 8-9 170 & 8-8 330 3EE 6-8-9 930M
B B 9 120 6-9 320/ 5B E 8-9 300 3EE 9-8-6 1,880
8 130 6-8 710 =51 9-8 3304
6 2704

ABIC OV TRUTEREERRODDZE. THRIIZEL.




